BEARRE WEES B RSB REL TR RIS (7) SKERE

% TR A - BT B B 2 B (@ ® & B =

EEIEE 4,683,616
PSS 4,683,616
KERE 4,683,616
1#RKEE = 2,382,956
18Rk ZEBIE (1) 1,504, 192
1 1#ok#ERIZ [1TE= g1 19. 00 79, 168 1,504,192

km
1#RK = (2) 878, 764
2 1#RKERE BEERX 11.10 79, 168 878, 764

km
HiiEERE 321,434
REEEE 211, 569
S HREEEE 1#RKZER £ 1.00 211, 569 211, 569

=
RREREE 109, 865
4 REEE 1#RKZER = 1.00 109, 865 109, 865

=
KER S (ELHHR) 1,706, 726
KERE (EEFHK) 1,183, 206
5 =% 1.00 256, 590 256, 590

=




BERNRE

WEREAREHERELEFMRXITRIE () SVKERE

£ [} g - BRTE B = fill ® &
6 HEMIERE 2FELY) 1.00 104, 326 104, 326
=
1 BE (1) &t (FE#EHRB~{RBM (RO2-1) ) 1.00 33, 469 33, 469
=®
8 BE (2) Lt (BiRIZL) 1.00 89, 756 89, 756
=®
9 AfRIKEERIE H & LB~ {=BM (RO2-1) 1.80 40, 947 73,704
km
10 EHKERE 1.00 419, 896 419, 896
=
11 Htbr Rl E Prigig £ GESMEL. ERED 4.50 45, 659 205, 465
km
S 523, 520
12 SREZER 128.00 4,090 523,520
- {0
EERE 272, 500
& - |E 120, 500
13 EaTiHE 1.00 73, 000 73, 000
[
14 mREE 1.00 47,500 47,500
=l
S 110, 000
15 EBRER 1.00 110, 000 110, 000
=
ZDfth 42,000
16 ETERERE 1.00 42,000 42,000




WIER WEREAREHERELEFMRXITRIE () SVKERE

& il B - Bk B % 8 B {f * # wE
HEAEE 4,683,616
HRE 4,573,751 x 71.9% — 2,142 3,286, 384
MEEER 4,683,616 + 3,286, 384 7,970, 000
34 7,970, 000
HEHEALE 7,970,000 x 10.00% 797,000
MEEBR 7,970,000 + 797,000 8,767, 000
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WEEEEREERELFMRITKIE G S KELE

&5 1
B IHKERNE LEEBR km (100k m)
4 b R - KT & By 2 B & # 5 &
X2 T
A 2.00 51, 000. 00 102, 000
B = HEm
A 29.50 44, 000. 00 1,298, 000
B E H A
A 54.00 34, 300. 00 1,852, 200
BEBF
A 120. 50 32, 200. 00 3,880, 100
s FEEDY
% 9.50 7,132, 300. 00 677,568
BIEERES FHEEDY
% 0.50 7,132, 300. 00 35, 661
MHE FEEDY
% 1.00 7,132, 300. 00 71,323
& R YEZ%£8EH : 100.00k m 79, 168. 00 7,916, 852
&5 .2
B 1BKERE RAEEX km (100k m)
4 b R - BKkTiE By 2 B & # 5 &
B2 B
A 2.00 51, 000. 00 102, 000
BIEHED
A 29. 50 44,000. 00 1, 298, 000
B2 H A
A 54. 00 34, 300. 00 1,852,200
BIEBF
A 120. 50 32, 200. 00 3, 880, 100
s FHEEDY
% 9.50 7,132, 300. 00 677,568
BEERES FEEDY
% 0.50 7,132, 300. 00 35, 661
MR & FHEEDY
% 1.00 7,132, 300. 00 71,323
& B YE%£8EH - 100.00k m 79, 168. 00 7,916, 852
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&5 :3
&% RETEE HfukENE 1KLY
2 L g - BRKTE By = B & £ 5 &
HEEHE
= 1.00 211,569. 00 211,569
& it YEZEEH - 1. 00K 211, 569. 00 211,569
BEBE5 4
2 AREBREE 1HKkE= 1KLY
% E R - BRTE By = B & %8 i &
BREBREE
= 1.00 109, 865. 00 109, 865
& &t fEEfEH - 1.00K 109, 865. 00 109, 865
E5:5
B 2R 1KLY
2 L g - BRKTE By = B & £ 5 &
B2 FEHER
A 1.50 51, 000. 00 76, 500
BIEHED
A 2.50 44, 000. 00 110, 000
B2 H A
A 1.50 34, 300. 00 51, 450
BIEBF
A 0.50 32, 200. 00 16, 100
MR EXOY
% 1.00 254, 050. 00 2,540
& B YE¥REH : 1.00 256, 590. 00 256, 590
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EES:6
B HEAMIERR QEFEZY) =10
4 b R - K& By 2 B & # IS 5 &
BIEWENE
A 2.00 27, 000. 00 54, 000
FSwy 2t7E
B 1.50 32, 863. 00 49,294 4.70H / 8H
A H £ERD%
% 1.00 103, 294. 00 1,032
& B YEZEEH - 1. 00K 104, 326. 00 104, 326
&S 7
&% BE (1) L (REAB~{RBM (RO2-1) ) 1KLY
% E R - BRTE BARL 2 B & H = i &
REE SA4 kN2 2L
B 0.25 3,252.00 813/2.00H / 8H
B2 B
A 0.25 51, 000. 00 12, 750
BIEHED
A 0.25 44, 000. 00 11, 000
B2 H A
A 0.25 34, 300. 00 8,575
MM EXZDY)
% 1.00 33, 138. 00 331
& R fEEEEH - 1.00K 33, 469. 00 33, 469




Rffik -/ \v7r—o

WEEEEREERELFMRITKIE G S KELE

&5 :8
& BE (2) L BFEEL) =10
4 b R - K& By 2 B & # IS 5 &
K@M FRP D 70PSZ! 3.0t
=] 0.50 74, 296. 00 37,148 8H
XX T
A 0. 40 51, 000. 00 20,400
B = HEm
A 0.40 44,000. 00 17, 600
B E H A
A 0. 40 34, 300. 00 13,720
A H £ERD%
% 1.00 88, 868. 00 888
& B YEZEEH - 1. 00K 89, 756. 00 89, 756
5.9
B MROKERE EESB~{RBM (R02-1) 1TBH&Y (3.6km)
% E R - BRTE BARL 2 B & H = i &
RBEHE 4 by 2L
B 1.00 3,252.00 3,252 2.00H / 8H
BIEHED
A 1.00 44,000. 00 44,000
B2 H A
A 1.00 34, 300. 00 34,300
BIEBF
A 2.00 32, 200. 00 64, 400
A H £ERD%
% 1.00 145, 952. 00 1,459
& B YE¥HEH :3.60km 40, 947. 00 147, 411
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H5:10
& EEKENE 1X5Y
2 Eu A - kTiE By = ] & el i &
B MR FRP D 70PS%E! 3.0t
B 1.00 74, 296. 00 74,296 8H
B2 EEHEE
A 0.10 51, 000. 00 5,100
B2 AR
A 2.20 44, 000. 00 96, 800
pil=g 10k
A 4.00 34, 300. 00 137, 200
BIZBF
A 2.70 32, 200. 00 86, 940
BWEE FHHEEDY
% 2.00 326, 040. 00 6,520
BIEEWRE FHEEDY
% 2.00 326, 040. 00 6,520
MHE FHHEEDY
% 2.00 326, 040. 00 6,520
=) g YEEBEH : 1.00 419, 896. 00 419, 896
B#5: 1
2 HEETRIE  BRRIEL GESMALL ERAD 1BH&Y (4.8km)
4 L R - KT By = B i & %8 5 &=
B MR FRP D 70PS%E! 3.0t
B 1.00 74, 296. 00 74,296 8H
BIEHED
A 1.00 44, 000. 00 44,000
B = AT
A 1.00 34, 300. 00 34, 300
RIEBNF
A 2.00 32, 200. 00 64, 400
MM EXNOY
% 1.00 216, 996. 00 2,169
& B 1E%8H :4.80km 45, 659. 00 219,165
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HE5:12
2 MESERK 10045 B2 Y
4 g R - KT By 2 B i & %8 5 &=
B2 EEBED
A 1.00 51, 000. 00 51,000
BIEHED
A 2.00 44,000. 00 88, 000
B = AT
A 4.00 34, 300. 00 137, 200
WEHT
A 4.00 32, 200. 00 128, 800
MM EXNOY
% 1.00 405, 000. 00 4,050
& B YEZERES : 100. 004&E B m 4,090. 00 409, 050
5 13
& BRIHE 1EHY
2 Eu R - kTiE By = B {f & el i &
B2 ETHE
A 1.00 51, 000. 00 51,000
B2 AR
A 0.50 44, 000. 00 22,000
& H YEZHRES : 1.00[H 73, 000. 00 73,000
H5: 14
&% =RHRE HEED)
2 Eu A - kTiE By = B {f & el i &
B2 ETHE
A 0.50 51, 000. 00 25,500
B2 AR
A 0.50 44,000. 00 22,000
& H YEZREH : 1.00[H 47, 500. 00 47,500
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S : 15
2 XBRESR 1Y
4 g R - KT By 2 B i & %8 5 &=
(ARG E
= 1.00 110, 000. 00 110, 000
& H YE¥REH : 1.00 110, 000. 00 110, 000
H5 : 16
A% EIRRERE 1Y
% L R - kTiE By = B {f & B i &
EZAYUITRE
IiE 1.00 42,000. 00 42,000
= &t YEEBEH : 1.00 42,000. 00 42,000




